VEAR € - ALGEBRAIC TECHNIQUES. ..

@nhisto_maths

Indices
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| What do [needto be able || Feuwords
: to do? | : Base: The number that gets multipled by a power
| Bythe end of this unit you shoukd be. abe to: : | Power: The exponent — or the number that tells you how many times to use the number in multipleation
|+ Odd/ Subtract expressions vith indces | | Exporent: The power — or the number that tels you how many times to use the number in muttiplcation
|« Mutiply expressions with indices | | Indices: The power or the exponent
|« Duide expressions with indices | 1 Coefficient: The number vsed to muttiply a variable
I« Finow the addtion law for indces | : Simpify: To reduce a power 1o its lowest term
: * Hnow the subtraction law for indices : I Produet: Mutiply
e e T
I l--"- Y " === ———-—-
| Oddition/ Subtraction with indices | | Multiply expressions with indices
| Gl o Eoch | | 4y 3 Htxat
| 24 dvh 0 7 ach square X o0 X
I 2& iﬁ go0 represe:tgzﬂand :: =4xbx3xa =hxtx9xt
| T T edch cube = _
| em  Term OO0 opesonts : : = 4I;>l< 5b>< bxa = Dx qu txt
I Expression W = a = 40t
: Only simiar terms can be simplfied | |
| If they have different powers, they L
| are Wnlke terms : | bt x 3p2
I |: =2xbxbxbxbx3xbxb Trere are often
| Il =2¢3xbxbxbxbxbyxb misconceptions with this
| | 0 O I I = cakulation but bredk down
I O+ ot — [ — | : = 6’ the poriers
: O Yo e e ]
I T
l I | Oddition/” Subtraction laws for indices
:5x3+6x4—5xg+x4—> ZSF@@’%E—PQX2+7X4| : tion b for ndice:
I
| FaaD | 3y 34 37
I I 1=(Bx3x3x3x3)x(3x3)
pylpteylepiuyluptuylnpiuylupiuyluptuyiupiuylpiupluptupiuptupiupiuptugll | ' !
| DIVIde QXPI'CSSiOY\S Wlth V\dlC@S I | The base rumber s l the same so the terms
| — : I can be simplfied
| 24 AxAxAx 3 A |
I — . . — I | Oddition law for indices
I 30 AXZX XD 3 N
| | : a m X G n = a m+*n
|
|5a5bf?l 5x.4 xaxaxkxk a_;‘:I
! T gy | 3
L Babt  3xFXaxbxSxbxbxbxb :I Pprxr — 3
| |
| H 3x3x3x8x8 _, 3> _,3°
| Cross carceling factors shows cancels the expre
| 9 WS Canc Xpression : I Xy 3 30 |
I I
: : : Subtraction law for indices
712 This expression cannot be. divided

I %A&t@_ (cancelled down) because there are : : am=gN=qm-n
: 5db no common factors or simiar terms I
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